Based Compensators
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If we now combine expressions given by (8.33) and (8.34), we obtain the com-
plete chain from the compensator input to the duty ratio output:
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The resistor setting the mid-band gain is the LED series resistor. We first start by
extracting the magnitude of the compensator gain, G(s), as derived in (8.35):
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From which we can extract the value of the LED resistor:

2 2 2
2] (] ()
CTR 7 fa 23 (8.44)

Riep = TGPWM = 5 5
i fr2 s
The definitions to obtain C; and R are rather simple to derive. Extract R3 from

(8.42): Re = 1
o 27fp, Cs (8.45)




